POLN| CESTA C2 A VETROLAM IP 7 V K.U. STRACHOTIN
SO 02 km 0,103 - 1,168

Charakteristické pficné fezy
M 1:100/100


Chytka
Rectangle


SEZNAM PRICNYCH REZU

PF 7= 9o 1
PF A0 - 120 oo 2
PF A3 - 15, oo 3
PF 16 - 18..evoeeeeeceoie e 4
PF A9 - 21, oo 5
PF 22 - 2o 6
PF 25 - 27, oo 7
PF 28 - 80...coovvvooceeeei e 8
PF 31 =83, 9
PF 34 - 36....ocoovveoreoeeceeeeecee e 10
PF 37 -89, oo 11
PF 40 - 42, .oooovvoee e 12
PF 43 - 45, oo 13
T 14
PFA9 - 51, 15
PF 52 - 53...cocevceeceei e 16



PF 7 km 0.1032

KUBATURY
V 2.39]m2
5600 Ns 0.43|m2
Te 2.44[m2
5500,600 , 2000 2000 500445 Or 6.35|m
UP 5.63|m
6% < 5% SN 1.00(m
== SV 0.84|m
=K ACO 11| 4.64|m
ﬁ—r—r‘i/ﬂ’/r ACP 16 | 4.73|m
rei ! I SD 0/32| 5.89|m
NOVY STAV EE E E E S oo ; SD0/63| 6.24|m
(I I Ll
17000 PUVODNiSTAV — ¢¢ & ¢ & g g
B.p.v. [ b [
. ¥2 8 8 000 g2 3 3
Stanicenivm G a S 5w oS
PF 8 km0.1129 CUBATURY
V 215[m2
5600 Ns 0.42Im2
Te 2.44[m2
14(500,600 , 2000 2000 500425 Or 6.31m
UP 5.63|m
o .5 SN 0.98]m
—— SV 0.66|m
, e ACO 11| 4.64|m
T‘I”_i/’//—r ACP 16| 4.73|m
et ! ol SD0/32| 5.89|m
Ll Lol
i7000 POVODNISTAV =~ @z & & g o8
B.p.v. [/ 1 | b [ 11
. =8 = (=00 s =28
Stanicenivm i e S S GG
PF 9 km 0.1355 KUBATURY
V 215[m2
400 Ns 0.43|m2
Te 2.37|m2
45500, 2000 2000 00,50
‘ks Or 6.15[m
o UpP 5.43|m
— _6% SN 0.89|m
e SV 0.53|m
K wi R ACO 11| 4.44|m
T\ ﬁ;:l ACP 16| 4.54]m
e ! A SD0/32| 5.70|m
NOVY STAV EE E E 5 ;; SD 0/63| 6.03|m
Ll I N
17000 PUVODNI STAV e - g pe
B.p.v. [ 1 | b [ 1 1/
- 83 8 (00 S s 88
Stanicenivm S S S S ad



PF 10 km 0.1456

KUBATURY
V 2.58[m2
: 400 Ns 0.48[m2
10600, 2000 2000 00,500 Te 2.37|m2
il Or 6.37[m
69 uP 5.43[m
— 6%
S SN 0.93[m | _
% % YavaTava e = = I'} ! SV 0.23|m
i S SR 5 ACO 11| 4.44|m
T ACP 16 | 454|m
ot ! P SD0/32| 5.70|m
[ ] | [ 1]
170.00 PUVODNI STAV g . F g oo
B.p.v. |/ ] J, [ 1/
. = =00 S 2 2=
Stanicenivm iei o S S S ad
PF 11 km 0.1558
KUBATURY
w00 V 2.54[m2
Ns 0.45[m2
250500, 2000 2000 400,500150 Te 2.37|m2
\ ‘ Or 6.18|m
_6% 6% upP 5.43|m
— SN 0.78[m |__
e = SV 0.67|m
RN ACO 11| 4.44[m
\F I ACP 16| 4.54|m
el ! s SD0/32| 5.70|m
NOVY STAV i E g; 33 SD 0/63| 6.03[m
[ [ 1]
17000 PUVODNI STAV =T = = = s oaw
B.p.v. [ J, | 11/
. 28 8 (=00 S35 28
Stanicenivm Giei e S SN e
PF 12 km 0.1851
KUBATURY
V 2.18[m2
Ns 0.43[m2
5000 Te 2.21|m2
¢ Or 5.75|m
00, 2000 2000 500295 UpP 5.05|m
1 ‘ SN 1.33[m
SV 0.00[m
ACO 11| 4.03[m
Seas ACP16| 413[m [—
KX - — SD0/32] 5.27[m
NOVY STAV EEE E g ;; SD 0/63| 5.63|m
[ ] ] | [ 1
171.00 PUVODNI STAV s . Z dz
B.p.v. [ J, | 11
- 288 (00 g 82
Staniceni vm ieied = S Ge



PF 13 km 0.1912

KUBATURY
Vv 211[m2
Ns 0.42|m2
5000 Te 2.21|m2
Or 5.68|m
50600, 2000 2000 ,500B33Q upP 5.05|m
17 SN 1.43[m
SV 0.00[m
ACO 11| 4.03|m
' ACP 16 | 4.13|m
oret - T SD 0/32| 5.27|m
L I L1
17100 PUVODN| STAV sez : i G
B.p.v. [ b [ 1]
- %3 (00 g 83
Staniceni vm ciei el = S oGS
PF 14 km 0.1972 KUBATURY
V 1.97[m2
Ns 0.41[m2
stho Te 2.21|m2
Or 5.68|m
135900, 2000 2000 500355 upP 5.05|m
SN 1.53|m
3% 3% SV 0.00|m
=esisscsamNRaRRRBARERAE: & [ACO 11| 4.03|m
2 ACP 16 | 4.13|m
e T T SD 0/32| 5.27|m
NOVY STAV RNl 2 : 23 SD 0/63| 5.63|m
L1 Il
171.00 PUVODNI STAV . < iz
B.p.v. [/ | b [ 11
. 23 8 =00 S 38
Stanicenivm R S S <a
PF 15 km 0.2168
KUBATURY
V 1.64]m2
Ns 0.40|m2
5000 Te 2.21|m2
85,500, 2000 2000 00215 Or 5.60|m
UP 5.05|m
5 SN 1.67|m
— e SV 0.00[m
,,,,,,,,,,,,,,,,,,,,, ACO 11| 4.05[m |—
ACP 16| 4.16|m
et ! T SD 0/32| 5.28|m
NOVY STAV EE E E E ;; SD 0/63| 5.63|m
L1 I N
17100 PUVODNI STAV sz = g i
B.p.v. [ 1 | b [ 1)
. 23 2 000 s 3=
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PF 16 km 0.2413

KUBATURY
V 1.72]m2
75500, 2000 2000 00t Oer gg; 22
1 UP 5.05|m
3% _3% o SN 1.53|m
...... —— SV 0.00(m |__
""""""" _ ACO 11| 4.05|m
‘ ACP 16 | 4.16|m
o ! o SD 0/32] 5.28|m
NOVY STAV Eg E E . i; SD 0/63| 5.63|m
L I I
171.00 PUVODNi STAV S = = ==
B.p.v. [ 1 | b | 1/
. 23 2 000 g 239
Stanicenivm SR = IO
PF 17 km 0.2658 KUBATURY
V 1.55]m2
5000
Ns 0.41|m2
501500, 2000 2000 00335 Te 551 m2
Or 5.78|m
_%% , 3% UP 5.05|m
SN 1.88|m
o s 5 SV 0.00|m
ACO 11| 4.05|m
ACP 16 | 4.16|m
Dl ! ot SD 0/32] 5.28|m
NOVY STAV E & E E E EE SD0/63| 5.63|m
Ll Il
17100 PUVODNI STAV Rt % SRR
B.p.v. [ | | é [ 1]
. .- 000 S 23
Staniceni v m IR S S G
PF 18 km 0.2903 KUBATURY
V 1.09]m2
Ns 0.41|m2
5000 Te 2.21]m2
301500, 2000 2000 500365 Or 5.89|m
UP 5.05|m
3% a% SN 2.00|m
_ — & SV 0.00|m
S : .' ACO 11| 4.05[m —
| ACP 16 | 4.16|m
L ! R SD 0/32] 5.28|m
NOVY STAV o E E E ; ;; SD 0/63| 5.63|m
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B.p.v. [ 1 | b [ 11
. 2 8 8 000 S 25
Stanicenivm IR = S LG



PF 19 km 0.3148

KUBATURY
i V 1.37[m2
5000 Ns 0.41|m2
301500, 00 Te 2.21|m2
Or 5.90|m
. uP 5.05|m
> : SN 2.01|m
R R T s SV 0.00|m —
] e ACO 11| 4.05|m
ACP 16| 4.16|m
b ! L SD0/32| 5.28|m
NOVY STAV i : E EE SD 0/63| 5.63|m
| ] ] I [ ]
17200 PUVODNI STAV RN < Egv
B.p.v. [ 1 J, [ 1
. 8 3 8 (00 g 3%
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PF 20 km 0.3393 KUBATURY
V 1.49Tm2
Ns 0.41|m2
5000 Te 2.21|m2
00, 500150 Or 5.69|m
‘ UP 5.05|m
SN 1.58|m
SV 0.00|m | _
s SEessessssss ACO 11| 4.05|m
—— ACP 16| 4.16|m
L ! oy SD 0/32] 5.28|m
NOVY STAV e : E E‘;" SD 0/63| 5.63|m
(I [ 1]
17300 PUVODNI STAV ERE % ERE
B.p.v. L1 1 J, | 1/
" 25 S (=00 s =8
Stanicenivm e o S S de
PF 21 km 0.3638 KUBATURY
V 1.09|m2
Ns 0.44|m2
Te 2.21|m2
500 Or 5.95|m
0, 500 upP 5.05|m
SN 2.06|m
SV 0.00|m
& ACO 11| 4.05[m
e — : | ACP 16| 4.16|m —
e + Lol | SD 0/32] 5.28|m
NOVY STAV S . E E é SD 0/63| 5.63|m
[ ] ] I [
17400 PUVODNI STAV SE & L S
B.p.v. L | | b [ 1 1
. 23 8 (00 g 38 5
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PF 22 km 0.3883

KUBATURY
V 1.35[m2
5000 Ns 0.42{m2
Te 2.21[m2
10,500, 2000
2000 00450 Or 5861m
UP 5.05|m
——r _3% SN 1.96|m
grs=c===s=: SV 0.00lm |___
ACO 11| 4.05|m
] ACP 16 | 4.16]m
L ! ol SD 0/32] 5.28|m
L I N
17400 PUVODNI STAV c e = .
B.p.v. [ | | b [ | |
- 58 8 (00 2 B 8
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PF 23 km 0.4128 KUBATURY
V 2.44Tm2
Ns 0.55|m2
8000 Te 4.28 | m2
Or 911 |m
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) SN 2.25|m
\2 - —r _3% ; SV 0.00[m
el S ACO11| 7.05m | _
ARRRREELIXK Iy ACP 16 | 7.15|m
! ! T LA SD 0/32] 8.28]m
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Bpv. | | | J) | | |
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Stanidenivm < w o o = R
PF 24 km 0.4373 KUBATURY
V 159 m2
500 Ns 0.41|m2
70,500285, 2000 2000 00205 Te 2.39|m2
TT Or 5.96|m
0 3% 3% upP 5.35|m
A = SN 1.76|m
T T SV 0.00Im —
' e} ACO 11| 4.33|m
F\ ACP 16 | 4.43|m
et ! o SD 0/32] 5.57|m
NOVY STAV = 05 0505 05 ; ;; SD0/63| 5.91|m
N I Il
17500 POVODNISTAV & = =+ = s =
B.p.v. [ | 11 b | 1)
- 8 2 38 (00 g 8=
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PF 25 km 0.4619

KUBATURY
V 1.33|m2
Ns 0.40|m2
5000 Te 2.21|m2
601500, 2000 2000 00B2Q Or 5.78|m
upP 5.05(m
- SN 1.88]m
S0 3%
— SV 0.00(m
,,,,,,,,,,,,,,, ACO 11| 4.05|m
_E ACP 16 | 4.16|m
el ! orT SD0/32] 5.28|m
NOVY STAV o E E E o: ;; SD 0/63| 5.63|m
l1 I l1
17600 PUVODNI STAV Er g s o
B.p.v. L || 5 | 11
- 28 3 (00 g 3%
Stanicenivm R = S aa
PF 26 km 0.4864
KUBATURY
V 1.14|m2
5ho Ns 0.42|m2
575500, 2000 2000 500865 Te 2.21|m2
Or 5.94|m
3% 3% upP 5.05|m
> s — SN 2.05[m
RIS SV 0.00[{m —
ACO 11| 4.05|m
ACP 16| 4.16|m
et ! [ SD0/32| 5.28|m
NOVY STAV S 2 s . S22 SD0/63] 5.63|m
I [l
17600 POVODNiSTAV £ < S = S ss
B.p.v. L 1 1 I\ [ 11
. S 8 8 =00 S 25
Stanicenivm < e o S S <A
PF 27 km 0.5109
KUBATURY
V 1.28| m2
Ns 0.41m2
5000 Te 2.21|m2
351500, 2000 2000 00265 Or 5.80|m
upP 5.05[m
a9, . SN 1.89|m
\? g - — SV 0.00[m
e ———— ACO 11| 4.05|m |__
o ACP 16 | 4.16|m
Ll ! T SD0/32] 5.28|m
NOVY STAV = % % % ; S; SD 0/63| 5.63|m
l I Il
i7700 POVODNISTAV = = & 2 S 2=
B.p.v. | 1| 5 |11
. 3 3 8 000 S 2=
Stanicenivm R G = S da



PF 28 km 0.5354

KUBATURY
V 1.61|m2
5000 NS 0.40|m2
50,500, 2000 2000 00295, Te 229 |m2
‘ Or 5.74|m
3% 3% upP 5.05|m
|||||||||| : SN 1.83[m
R R T R SV 0.00m [—
ACO 11| 4.05[m
ACP 16 | 4.16|m
et ! I SD0/32| 5.28|m
NOVY STAV - 5 N SD0/63| 563|m
[ ] I [
177.00 PUVODNi STAV 58 3 5 5 =s
B.p.v. L1 | 5 | 1]
. 2 2 2 =00 S g2
Stanicenivm R = IR
PF 29 km 0.5603 KUBATURY
V 0.66|m2
5000 Ns 0.45|m2
725 |500, 2000 2000 001460 Te 2.21|m2
Or 6.18|m
N UP 5.05|m
2 —— 2 o SN 2.33[m
—_— SV 0.00|m —
108 ACO 11| 4.05[m
ACP 16 | 4.16|m
ol ! LA SD 0/32] 5.28|m
NOVY STAV 2 s og 5 S5 SD0/63| 5.63|m
[ [
17800 POVODNiSTAV & = = J ER
B.p.v. [ o [ | |
. N 2 2 000 s 2 2
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PF 30 km 0.5856 KUBATURY
V 17.15[m2
600 [500, 2000 2000 00175 Oer 5'37 22
‘ UP 5.05|m
2 _3% 3% SN 1.87|m
= SV 0.00[m F—
RS ACO 11| 4.05[m
-‘\\“$ ACP 16 | 4.16|m
ot ! = SD 0/32] 5.28|m
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PF 31 km 0.6110

KUBATURY
V 1.44|m2
Ns 0.41[m2
500 Te 2.21m2
40,500, 2000 2000 500170 Or 561lm
‘ UP 5.05|m
_3% 3% SN 1.69|m
— SV 0.00[m }—
BRI ; ACO 11| 4.05|m
l» ACP 16| 4.16|m
el ! o SD0/32| 5.28[m
NOVY STAV % ;E ;E ‘2‘; % %g SD 0/63| 5.63|m
[ ] I [ 1
180.00 PUVODNI STAV S g g 5 5 Zo
B.p.v. [ 1 J, | 1/
. 3 S =00 S 25
Stanicenivm IR = IO
PF 32 km 0.6363 KUBATURY
V 157 m2
5000 Ns 0.46|m2
50,500, 2000 2000 00185 Te 2.21|m2
Or 5.93|m
N UP 5.05|m
— =2 SN 0.99|m |—
{_,<,;;;; ----- SV 0.71|m
% ACO 11| 4.05|m
ACP 16| 4.16|m
sl ! o SD0/32| 5.28[m
NOVY STAV R 5 ; Eé SD 0/63| 5.63|m
[ | [ 1
18100 PUVODNI STAV iz 3 . s
B.p.v. [ 11 J, | 1/
. 28 =2 000 S s
Stanicenivm IR S S de
PF 33 km 0.6616 KUBATURY
V 2.68[m2
Ns 0.52|m2
Te 2.21|m2
5tbo Or 6.07|m
178600, 2000 2000 5001530 UprP 5.05!m
\ 1 | 1 SN 0.70|m
3% 39 SV 110 m .
= ACO 11| 4.05[m
; 3 ACP 16| 4.16|m
T + el SD 0/32] 5.28|m
NOVY STAV §§ § § % % g SD 0/63| 5.63|m
[ I [
183.00 PUVODNI STAV 25 8 . g g s
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. 28 = =00 2 3 2
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PF 34 km 0.6870

KUBATURY
Vv 2.34]m2
5000 Ns 0.52|m2
Te 2.21|m2
1 00T 2000 2000 00 50/[, Or 6.101m
UP 5.05|m
— 3% Z SN 0.67|m
,,,,,,,, =zaam SV 1.12[m
IR ACO 11| 4.05[m
ACP 16| 4.16|m
ot ! R SD0/32] 5.28|m
NOVY STAV §§§ % % ; ; SD 0/63| 5.63|m
L1 I Ll
18400 PUVODNI STAV 5% & = Zz =z
B.p.v. [/ | b [ | |
- 23 3 (00 g 38 3
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PF 35 km 0.7123
KUBATURY
Vv 2.02]m2
Ns 0.49|m2
500 Te 221 m2
375500, 2000 2000 001435, Or 5.93|m
UP 5.05|m
a% o SN 0.92|m
— SV 0.99]m
R R R RIS ﬁ% ACO 11| 4.05[m
‘Iﬁr\ ACP 16| 4.16|m
LR ! R SD 0/32] 5.28|m
NOVY STAV TR g ; ;.g ; SD0/63| 5.63|m
Ll Ll
185.00 PUVODN| STAV rE E R
Bp.v. [ 1 | b | 1 |
. 53 S (00 s 3R
Stanicenivm QI g S S a S
PF 36 km 0.7377
KUBATURY
V 2.03[m2
Ns 0.52|m2
) Te 2.21|m2
655 500, 2000 2000 00,605 , Or 6.26|m
1 UP 5.05]m
o . SN 1.23|m
\2 — = ' SV 1.18[m
E,,,_; ,,,,,,,,,,,,,,,, === e e ACO 11 4.05[m
—‘r\ ACP 16| 4.16|m
L ! L SD0/32] 5.28|m
NOVY STAV T = . ; ; SD 0/63| 5.63|m
Pl I L
18800 PUVODNISTAV = = = 5 2 s o
B.p.v. | | | b [ 1 |
. w38 S (=00 s 8 =
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PF 37 km 0.7630

KUBATURY
v 211 m2
Ns 0.49|m2
Te 2.21[m2
5tho Or 6.13|m
351500, 2000 2000 /5001420, upP 5.05|m
1 SN 1.10|m
N 3% 3% SV 0.97|m
> ACO 11| 4.05|m
R e 222 ACP16 | 4.16|m
T - Loidl SD 0/32] 5.28|m
NOVY STAV S 5 S oo SD 0/63| 5.63|m
Il I Ll
15000 PUVODNISTAV & s = 5 ‘EE
B.p.v. [ 1 | b [
- 8 3 8 (00 S 38
Stanicenivm R = S d G
PF 38 km 0.7880 KUBATURY
V 1.86][m2
Ns 0.45|m2
5ho v Te 2.21|m2
Or 6.03|m
UP 5.05|m
SN 1.16|m
SV 0.58|m
ACO 11| 4.05|m
ACP 16| 4.16|m
ot ! - SD 0/32| 5.28|m
NOVY STAV i 5 % o SD 0/63| 5.63|m
Lol L1
19100 PUVODNiSTAV 5 3 5 5 5 3z
B.p.v. [ 1 | b | |/
. 3 8 8 (00 g 33
Stanicenivm R S S aa
PF 39 km 0.8130 KUBATURY
Vv 1.44]m2
500 Ns 0.47 | m2
730 1500, 2000 2000 00 Te 2.21|m2
Or 6.07[m
3% 3% upP 5.05|m
> — SN 1.77|m
— ] SV 0.05Im
‘ ACO 11| 4.05|m
ACP 16| 4.16|m
ot ! I SD 0/32| 5.28|m
NOVY STAV 5 § § % % ;; SD 0/63| 5.63|m
L I Il
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PF 40 km 0.8380

KUBATURY
V 1.95[m2
Ns 0.45[{m2
5000 Te 2.21|m2
360500, 2000 2000 00 Or 5.81|m
‘ UP 5.05|m
N SN 0.90|m
— 3% o SV 063|m |—
________________ EEEEEEEaEaEEE eSS ACO11 405m
o ACP 16| 4.16|m
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V 1.74]m2
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3% 3% SV 0.00[m
,,,,,, ACO 11| 4.05|m —
BRI IR § ACP 16| 4.16|m
T * S SD 0/32] 5.28|m
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. =3 8 (00 g 33
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V 2.05|m2
otho Ns 0.48[m?
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Or 6.01|m
3% % UP 5.05|m
SN 108[m —
RIS SV 0.00|m
e ACO 11| 4.05|m
ACP 16| 4.16|m
N ! LN} SD 0/32] 5.28|m
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197.00 PUVODNI STAV oo o g
B.p.v. [/ | b | I/
- 58S 000 S 233
Staniceni vm i = S G

—
~



PF 43 km 0.9130

KUBATURY
Vv 1.89
. 5000 p Ns 0.45
10500, 2000 2000 0 Te 2.21
1 Or 5.78|m
- . UP 5.05[m
— — SN 1.32]m
h_,<r ,,,,,,,,,,, I o e e SV OOO m
R ACO 11| 4.05[m
ACP 16 | 4.16|m
o ! b SD 0/32| 5.28|m
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3% 3% SN 1.68[m
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R e ACO 11| 4.05|m
ACP 16| 4.16|m
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ACP 16 | 4.16|m
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PF 46 km 0.9880

KUBATURY
V 1.37[m?2
701500, 2000 2000 00265, -l(—)er g?l 22
UP 5.05|m
_8% 3% SN 1.83|m
SV 0.00|m
AR ACO 11| 4.05|m [—
] ACP 16 | 4.16|m
et ! o SD 0/32] 5.28|m
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V 1.75[m2
¢ 50 Ns 0.43|m2
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== SN 1.71[m
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